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CUET 2023 EXAM ANALYSIS  
GENERAL TEST QUESTIONS WITH SOLUTIONS  

21ST MAY 
 

CUET 2023 EXAM DETAILED ANALYSIS | 21ST MAY (ALL SLOTS) 
PAPERDETAILED SOLUTION 

 
  

1. A man walks 5 km toward South and then turns right. After walking 3 km he turns left and walks 5 km. Now 
in which direction is he from the starting place?  
(a) West  
(b) South  
(c) North-East  
(d) South-West  

  
 Ans. d 

  
2. Who wrote Panchvati?  
 

Ans. Maithili Sharan Gupt  
  
3. Where is Kanha National Park Located?  
 

Ans. Madhya Pradesh  
  
4. A is B's sister. C is B's mother. D is C's father. E is D's mother. Then, how is A related to D?  

(a) Grandfather   
(b) Grandmother  
(c) Daughter   
(d) Granddaughter  

 
Ans. d  

https://youtu.be/h_yFVVwptuA
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5. Who is the founder of ISRO?  
 

Ans. Vikram Sarabhai  
  
6. A is older than B. C is older than B but younger than A. D is younger to E and B both. B is older than E. Find 

which one is youngest?  
 

Ans. A > C > B > E > D  
  
7. All students of a class are standing in a line. A is 21st in order from both the ends. How many boys are there 

in the class?  
(a) 31  
(b) 41  
(c) 40  
(d) 30  

 
 Ans. b  
  
8. City and their nicknames (match the following)   

(a) Jaipur–Golden City   
(b) Nagpur–Pink City   
(c) Jodhpur–Orange City   
(d) Amritsar–Blue City  

 
 Answer:  
 Jaipur – Pink City  
 Nagpur – Orange City  
 Jodhpur – Blue City  
 Amritsar – Golden City  
  
9. Area of a rhombus is 63 square cm. If the length of one of the diagonals is 9 cm, find the length of the other 

diagonal  
 

Ans. 14 cm  
  
10. Which river is located in which city?   

  
Answer: 

 Godavari/Dakshin Ganga – Maharashtra  
 Satluj River - Amritsar   
 Gomti River – Lucknow  
 Tapi River – Surat  
  
11. 6:1 is the ratio of the age of Amar and that of Ajay. After 7 years, this ratio becomes   

7 : 2. What is the present age of Ajay?  
(a) 9 yrs  
(b) 7 yrs  
(c) 5 yrs  
(d) 11 yrs  

 
Ans. b  
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 12.  Who is the author of Hind Swaraj?  
  
 Ans. Mahatma Gandhi  
  
13.  Who is the author of Ignite Minds?  
 
 Ans. APJ Abdul Kalam  
 
14. In a code language, CIRCUS is coded as DKUGZY then JOKER in the same code language will be coded as ?  
 
 Ans. KQNIW  
  
15.  Who is the author of Wings of Fire?  
 
 Ans. APJ Abdul Kalam  
  
16.  Who got the 1st noble prize in India?  
 
 Ans. Rabindranath Tagore  
  
17.  Which of the following not the state:   
 (a) Manipur  
 (b) Ladakh  
 (c) UP  
 (d) Gujarat  
 
 Ans. b  
  
18.  Which disease occurs due to deficiency of Vitamin A, C, B, Iron?   
 
 Answer:  
 A. Vit.  A - Night blindness  

B. Vit.  C - Scurvy   
C. Vit.  B - Beri - Beri  
D. Iron Deficiency – Anaemia  

  
19.  When did the Civil Disobedience Movement happen?  
 
 Answer   
  
20.  When did Quit India Movement happened?  
 
 Ans. 1942  
  

 


